SOLICITATION/CONTRACT/ORDER FOR COMMERCIAL ITEMS OFFEROR TO COMPLETE BLOCKS 12, 17, 23, 24, AND 30 1. REQUISITION NUMBER PAGE 1 OF 29													
2. CONTRACT NO. HDEC04-12-D-00°	11	4. ORDER					S. SOLICITATION NUMBER HDEC04-12-R-0007			6. SOLICITATION ISSUE DATE 13-Dec-2011			
7. FOR SOLICITATION INFORMATION CALL	<u>:</u>	a. NAME TRINA C. E	ARNES	'					NUMBER (No C	· 1.		DUE DATE/LO	
9. ISSUED BY DEFENSE COMMIS EQUIPMENT & MAI BUILDING P 11200	NTENANCE DIVISION	L	HDEC04		10. THIS ACQUUNRESTRI	CTED	IS 10 % F		11. DELIVERY DESTINATION UBLOCK IS MARI	FOR FOB 1 JNLESS KED		OUNT TER	
1300 E AVENUE FORT LEE VA 2380	HUBZONE SB			13a. THIS CONTRACT IS A RATED ORDER UNDER DPAS (15 CFR 700) 13b. RATING									
TEL: FAX: (804) 734-8 15. DELIVER TO	EMERGING SB SIZE STD: 500 NAICS: 332999 14. METHOD OF SOLICITATION IFB X RFP 16. ADMINISTERED BY CODE												
SEE SCHEDULE					SEE ITEM 9								
17a.CONTRACTOR/OFFEROR CODE 4XEB1					18a. PAYMENT WILL BE MADE BY CODE HQ0131								
A2Z SUPPLY CORP BRIAN PAUL HOORNBEEK 302 MAIN ST STEVENSVILLE MT 59870-6201					DFAS-WIDE AREA WORK FLOW DFAS - CV DAAA/CO P.O. BOX 369016 COLUMBUS OH 43236-9016								
TEL. 406-777-1988 CODE													
17b. CHECK IF REMITTANCE IS DIFFERENT AND PUT SUCH ADDRESS IN OFFER					18b. SUBMIT INVOICES TO ADDRESS SHOWN IN BLOCK 18a. UNLESS BLOCK BELOW IS CHECKED SEE ADDENDUM								
19. ITEM NO. 20. SCHEDULE OF SUPPLIES/ SEI					RVICES		21.	QUANTITY	22. UNIT	23. UNIT PR	UNIT PRICE 24. AMOUNT		
SEE SCHEDULE													
25. ACCOUNTING AND APPROPRIATION DATA					26. TOTAL AWARD						\$72,303.00 EST		
27a. SOLICITATE X 27b. CONTRAC						DDENDA X	님	ARE NOT A					
	<u> </u>					OFFER ON SOLICITATION OR CHANGES WHICH ARE							
30a. SIGNATURE (31a.UNITED STATES OF AMERICA (SIGNATURE OF CONTRACTING OFFICER) 31c. DATE SIGNED												
		02-Feb-201						D-2012					
30b. NAME AND T (TYPE OR PRINT)	31b. NAME OF CONTRACTING OFFICER (TYPE OR PRINT) DESSIE MILLS / CONTRACTING OFFICER TEL: (804) 734-8000 EXT 48511 EMAIL: dessie.mills@deca.mil												

Page 4 of 29

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 0001 \$0.00

CED 2R00-A, 2R00-B & 2R00-C

FFP

Flammable Liquids Storage Cabinets

Base Year: March 1, 2012, or date of award if later, through February 28, 2013

FOB: Destination

NET AMT \$0.00

Page 5 of 29

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 0001AA 12 Each \$622.00 \$7,464.00 EST

CED 2R00-A, Flammable Liquids Storage

FFP

Cabinet, 30 Gallon Capacity

Base Year: March 1, 2012, or date of award if later, through February 28, 2013

Mfr./Model Number: Jamco BM30

Warranty Period: 5 Years (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$7,464.00 (EST.)

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 0001AB 8 Each \$739.00 \$5,912.00 EST

CED 2R00-B, Flammable Liquids Storage

FFP

Cabinet, 45 Gallon Capacity

Base Year: March 1, 2012, or date of award if later, through February 28, 2013

Mfr./Model Number: Jamco BM45

Warranty Period: 5 Years (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$5,912.00 (EST.)

Page 6 of 29

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 0001AC 30 Each \$871.00 \$26,130.00 EST

CED 2R00-C, Flammable Liquids Storage

FFP

Cabinet, 60 Gallon Capacity

Base Year: March 1, 2012, or date of award if later, through February 28, 2013

Mfr./Model Number: Jamco BM60

Warranty Period: 5 Years (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$26,130.00 (EST.)

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 0002 21 Each \$632.00 \$13,272.00 EST

CED 2R00-D, Liquid Propane Cylinder

FFP

Storage Cabinet

Base Year: March 1, 2012, or date of award if later, through February 28, 2013

Mfr./Model Number: Jamco CH080

Warranty Period: 1 Year (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$13,272.00 (EST.)

Page 7 of 29

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 0003 71 Each \$275.00 \$19,525.00 EST

SHIPPING CHARGES - Do not price.

FFP

Base Year: March 1, 2012, or date of award if later, through February 28, 2013

In accordance with the Addendum to 52.212-1 - Prior to placing delivery orders, the Government will contact the vendor for shipping cost for a specific location(s). The vendor will be paid for actual shipping charges supported by a copy of the prepaid freight/shipping bill.

FOB: Destination

NET AMT \$19,525.00 (EST.)

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT \$0.00

1001 OPTION

CED 2R00-A, 2R00-B & 2R00-C

FFP

Flammable Liquids Storage Cabinets

Option Year 1: March 1, 2013 through February 28, 2014

FOB: Destination

NET AMT \$0.00

Page 8 of 29

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 1001AA 16 Each \$653.00 \$10,448.00 EST

OPTION CED 2R00-A, Flammable Liquids Storage

FFP

Cabinet, 30 Gallon Capacity

Option Year 1: March 1, 2013 through February 28, 2014

Mfr./Model Number: Jamco BM30

Warranty Period: 5 Years (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$10,448.00 (EST.)

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 1001AB 12 Each \$776.00 \$9,312.00 EST

OPTION CED 2R00-B, Flammable Liquids Storage

FFP

Cabinet, 45 Gallon Capacity

Option Year 1: March 1, 2013 through February 28, 2014

Mfr./Model Number: Jamco BM45

Warranty Period: 5 Years (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$9,312.00 (EST.)

Page 9 of 29

SUPPLIES/SERVICES **QUANTITY** UNIT UNIT PRICE ITEM NO **AMOUNT** 1001AC Each \$915.00 \$33,855.00 EST OPTION

CED 2R00-C, Flammable Liquids Storage

Cabinet, 60 Gallon Capacity

Option Year 1: March 1, 2013 through February 28, 2014

Mfr./Model Number: Jamco BM60

Warranty Period: 5 Years (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$33,855.00 (EST.)

ITEM NO SUPPLIES/SERVICES **QUANTITY UNIT UNIT PRICE AMOUNT** 1002 30 Each \$664.00 \$19,920.00 EST

OPTION CED 2R00-D, Liquid Propane Cylinder

FFP

Storage Cabinet

Option Year 1: March 1, 2013 through February 28, 2014

Mfr./Model Number: Jamco CH080

Warranty Period: 1 Year (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$19,920.00 (EST.)

Page 10 of 29

\$0.00

ITEM NO SUPPLIES/SERVICES **QUANTITY** UNIT UNIT PRICE **AMOUNT** 1003 Each \$275.00 \$26,125.00 EST OPTION SHIPPING CHARGES - Do not price. Option Year 1: March 1, 2013 through February 28, 2014 In accordance with the Addendum to 52.212-1 - Prior to placing delivery orders, the Government will contact the vendor for shipping cost for a specific location(s). The vendor will be paid for actual shipping charges supported by a copy of the prepaid freight/shipping bill. FOB: Destination **NET AMT** \$26,125.00 (EST.) ITEM NO SUPPLIES/SERVICES **QUANTITY** UNIT UNIT PRICE **AMOUNT** 2001 \$0.00 OPTION CED 2R00-A, 2R00-B & 2R00-C **FFP** Flammable Liquids Storage Cabinets Option Year 2: March 1, 2014 through February 28, 2015 FOB: Destination

NET AMT

Page 11 of 29

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 2001AA 10 Each \$686.00 \$6,860.00 EST

OPTION CED 2R00-A, Flammable Liquids Storage

FFP

Cabinet, 30 Gallon Capacity

Option Year 2: March 1, 2014 through February 28, 2015

Mfr./Model Number: Jamco BM30

Warranty Period: 5 Years (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$6,860.00 (EST.)

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 2001AB 19 Each \$815.00 \$15,485.00 EST

OPTION CED 2R00-B, Flammable Liquids Storage

FFP

Cabinet, 45 Gallon Capacity

Option Year 2: March 1, 2014 through February 28, 2015

Mfr./Model Number: Jamco BM45

Warranty Period: 5 Years (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$15,485.00 (EST.)

Page 12 of 29

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 2001AC 18 Each \$961.00 \$17,298.00 EST

OPTION CED 2R00-C, Flammable Liquids Storage

FFP

Cabinet, 60 Gallon Capacity

Option Year 2: March 1, 2014 through February 28, 2015

Mfr./Model Number: Jamco BM60

Warranty Period: 5 Years (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$17,298.00 (EST.)

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 2002 19 Each \$697.00 \$13,243.00 EST

OPTION CED 2R00-D, Liquid Propane Cylinder

FFP

Storage Cabinet

Option Year 2: March 1, 2014 through February 28, 2015

Mfr./Model Number: Jamco CH080

Warranty Period: 1 Year (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$13,243.00 (EST.)

Page 13 of 29

\$0.00

ITEM NO SUPPLIES/SERVICES **QUANTITY** UNIT UNIT PRICE **AMOUNT** 2003 Each \$275.00 \$18,150.00 EST OPTION SHIPPING CHARGES - Do not price. Option Year 2: March 1, 2014 through February 28, 2015 In accordance with the Addendum to 52.212-1 - Prior to placing delivery orders, the Government will contact the vendor for shipping cost for a specific location(s). The vendor will be paid for actual shipping charges supported by a copy of the prepaid freight/shipping bill. FOB: Destination **NET AMT** \$18,150.00 (EST.) ITEM NO SUPPLIES/SERVICES **QUANTITY UNIT UNIT PRICE AMOUNT** 3001 \$0.00 OPTION CED 2R00-A, 2R00-B & 2R00-C **FFP** Flammable Liquids Storage Cabinets Option Year 3: March 1, 2015 through February 29, 2016 FOB: Destination

NET AMT

Page 14 of 29

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 3001AA 12 Each \$720.00 \$8,640.00 EST

OPTION CED 2R00-A, Flammable Liquids Storage

FFP

Cabinet, 30 Gallon Capacity

Option Year 3: March 1, 2015 through February 29, 2016

Mfr./Model Number: Jamco BM30

Warranty Period: 5 Years (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$8,640.00 (EST.)

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 3001AB 12 Each \$856.00 \$10,272.00 EST

OPTION CED 2R00-B, Flammable Liquids Storage

FFP

Cabinet, 45 Gallon Capacity

Option Year 3: March 1, 2015 through February 29, 2016

Mfr./Model Number: Jamco BM45

Warranty Period: 5 Years (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$10,272.00 (EST.)

Page 15 of 29

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 3001AC 19 Each \$1,009.00 \$19,171.00 EST

OPTION CED 2R00-C, Flammable Liquids Storage

FFP

Cabinet, 60 Gallon Capacity

Option Year 3: March 1, 2015 through February 29, 2016

Mfr./Model Number: Jamco BM60

Warranty Period: 5 Years (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$19,171.00 (EST.)

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 3002 11 Each \$732.00 \$8,052.00 EST

OPTION CED 2R00-D, Liquid Propane Cylinder

FFP

Storage Cabinet

Option Year 3: March 1, 2015 through February 29, 2016

Mfr./Model Number: Jamco CH080

Warranty Period: 1 Year (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$8,052.00 (EST.)

Page 16 of 29

ITEM NO SUPPLIES/SERVICES **QUANTITY** UNIT UNIT PRICE **AMOUNT** 3003 Each \$275.00 \$14,850.00 EST OPTION SHIPPING CHARGES - Do not price. Option Year 3: March 1, 2015 through February 29, 2016 In accordance with the Addendum to 52.212-1 - Prior to placing delivery orders, the Government will contact the vendor for shipping cost for a specific location(s). The vendor will be paid for actual shipping charges supported by a copy of the prepaid freight/shipping bill. FOB: Destination **NET AMT** \$14,850.00 (EST.) ITEM NO SUPPLIES/SERVICES **QUANTITY UNIT UNIT PRICE AMOUNT** 4001 \$0.00 OPTION CED 2R00-A, 2R00-B & 2R00-C **FFP** Flammable Liquids Storage Cabinets Option Year 4: March 1, 2016 through February 28, 2017 FOB: Destination **NET AMT** \$0.00

Page 17 of 29

SUPPLIES/SERVICES **QUANTITY** UNIT UNIT PRICE **AMOUNT** ITEM NO 4001AA Each \$756.00 \$7,560.00 EST OPTION

CED 2R00-A, Flammable Liquids Storage

Cabinet, 30 Gallon Capacity

Option Year 4: March 1, 2016 through February 28, 2017

Mfr./Model Number: Jamco BM30

Warranty Period: 5 Years (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$7,560.00 (EST.)

ITEM NO SUPPLIES/SERVICES **OUANTITY UNIT UNIT PRICE AMOUNT** 4001AB Each \$899.00 \$7,192.00 EST

OPTION CED 2R00-B, Flammable Liquids Storage

Cabinet, 45 Gallon Capacity

Option Year 4: March 1, 2016 through February 28, 2017

Mfr./Model Number: Jamco BM45

Warranty Period: 5 Years (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$7,192.00 (EST.)

Page 18 of 29

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 4001AC 18 Each \$1,060.00 \$19,080.00 EST

OPTION CED 2R00-C, Flammable Liquids Storage

FFP

Cabinet, 60 Gallon Capacity

Option Year 4: March 1, 2016 through February 28, 2017

Mfr./Model Number: Jamco BM60

Warranty Period: 5 Years (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$19,080.00 (EST.)

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 4002 11 Each \$769.00 \$8,459.00 EST

OPTION CED 2R00-D, Liquid Propane Cylinder

FFP

Storage Cabinet

Option Year 4: March 1, 2016 through February 28, 2017

Mfr./Model Number: Jamco CH080

Warranty Period: 1 Year (from date of shipment) free from material and

workmanship defects.

Warranty POC: Maribel Lujan-Hoornbeek, 406-777-1988

FOB: Destination

NET AMT \$8,459.00 (EST.)

Page 19 of 29

ITEM NO SUPPLIES/SERVICES QUANTITY UNIT UNIT PRICE AMOUNT 4003 47 Each \$275.00 \$12,925.00 EST

OPTION SHIPPING CHARGES - Do not price.

FFP

Option Year 4: March 1, 2016 through February 28, 2017

In accordance with the Addendum to 52.212-1 - Prior to placing delivery orders, the Government will contact the vendor for shipping cost for a specific location(s). The vendor will be paid for actual shipping charges supported by a copy of the prepaid freight/shipping bill.

FOB: Destination

NET AMT \$12,925.00 (EST.)